Input speed (n1)

= 1400 min -1

Output | pasio | Motor | Output | Service NominalNominal Dynamic Tooth
Speed power | torque | factor | power | torque B14 motor flanges | etficiency Module ."::'J J;?
n, 4 i P My fs. P M, R —'/ \'-- ﬂ

[min] [KW] | [Nm] [KW] | [Nm] 80 RD [mm] %%}1'%5
200 7 4 172 11 44 | 190 90 3.75 01
140 10 4 240 1.0 3.8 | 230 88 3.75 0z
93 15 3 261 1.0 2.9 | 250 85 3.75 03
70 20 2.2 | 249 1.0 2.2 | 250 83 3.00 04
56 25 1.5 | 205 12 1.8 | 250 80 2.41 05
45 3 1.5 | 244 11 1.7 | 270 77 3.75 06
35 40 1.5 | 295 | 09 1.3 | 255 72 3.10 o7
28 50 | 0.75 | 174 1.3 | 0.95 | 220 68 2.41 08
23 60 | 0.75 | 200 10 | 0.75 | 200 B85 210 09
175 | 80 | 0.55 | 177 1.0 | 0.56 | 180 59 1.53 10
14.0 | 100 | 0.55"| 206 | 0.7 | 0.40 | 150 55 1.23 1"

Output | poyig | Motor | Qutput | Service NominalNominal Dynamic Tooth -
Speed power | torque | factor | power | torque B14 motor flanges | gy y Module ;’.*J,J:}
r!z 3 i pm MZM fs pIR MzR R —'/ \L- “&
[min’] [KW] | [Nm] | "= | [kW] | [Nm] 80 RD [mm] Ratios
200 7 40 | 168 | 1.5 6.1 | 257 88 4.23 01
140 10 40 | 218 | 1.3 5.2 | 284 80 4.2 0z
100 14 3.0 | 223 | 14 41 | 305 78 4.5 03
70 20 22 | 237 | 12 2.7 | 294 79 34 04
64 22 22 | 258 | 11 2.5 | 294 78 3.1 05
50 28 22 | 315 | 11 2.4 | 347 75 4.7 06
37 38 1.5 | 276 | 1.2 1.8 | 336 71 3.5 07
30 46 1.5 | 320 | 1.0 1.5 | 326 68 3.1 08
27 52 1.1 258 | 1.1 1.2 | 289 66 27 09
21 67 1.1 327 | 0.9 | 0.97 | 289 65 2.1 10
189 | 74 | 075 220 | 1.2 | 0.91 | 268 I 58 1.9 11
146 | 96 | 0.55 | 191 1.3 | 0.70 | 242 53 1.5 12

Spand | Ratl0 | P | orie | acior | power | toraue Bt motorfianges | eficiency | Moade /]
w1 N T | N -

[min’] [KW] | [Nm] [KW] | [Nm] 80 RD (mmi] Ratios
200 7 75 | 315 | 15 | 11.5 | 483 88 55 01
140 | 10 75 | 440 | 12 | 90 | 535 86 5.4 02
88 16 55 | 492 | 141 6.0 | 536 82 53 03
70 20 40 | 447 | 12 | 49 | 546 82 45 04
61 23 30 | 377 | 14 41 | 515 80 3.9 05
47 30 30 | 467 | 14 42 | 651 76 56 06
37 38 30 583 141 33 | 641 75 4.7 07
31 45 22 | 493 | 12 | 27 | 599 73 4.0 08
26 53 22 | 557 | 11 25 | 620 70 3.5 09
22 64 15 452 | 12 1.8 | 536 69 2.9 10
16.7 84 11 0 410 | 12 1.3 | 494 65 2.2 11
141 | 99 1.1 | 446 | 1.1 1.2 | 483 60 1.9 12

Output | p..io | Motor | Output| Service|Nominal Nominal B14 motor flanges Dynamic Tooth

Speed power | torque | factor | power | torque | BS5 motor flanges not available efficiency Module x:? “:?
min k| N S N Ny

[min’) W] | (N kW] | N ) RO fmm | Faos
187 | 7.5 75 | 345 | 21 | 16.1 | 741 90 6.1 01
140 10 7.5 | 455 1.8 | 13.5 | 820 89 6.45 02
93 15 7.5 | 668 14 | 10.3 | 917 87 6.72 03
70 20 7.5 | 870 | 1.0 7.8 | 905 85 5.24 04
56 25 55 | 788 | 1.2 6.5 | 931 84 4.28 05
46.7 | 30 55 | 900 @ 1.2 6.4 | 1047 80 6.91 06
35 40 40 | 851 1.2 4.9 | 1043 78 5.36 07
28 50 40 | 1023 0.9 3.8 | 972 75 4.35 08
233 | 60 3.0 | 89 | 1.0 341 928 73 3.65 09
175 | 80 22 | 816 | 1.0 2.3 | 853 68 2.76 10

1.1 1.7 | 742 64 2.23

THE HYDROMEC FAMILY
IN AUSTRALIA

FROM 0.18kw to 45kw

"EEl

GLOBAL SOLUTIONS, LOCAL SERVICE

Worm gearboxes

0.18kW to 7.5kW
14mm to 42mm shaft

Aluminium In-line helical gearboxes Cast Iron In-line helical gearboxes

0.25kW to 7.5kW
14mm to 35mm shaft

0.18kW to 45kW
30mm to 70mm shaft

Square worm gearboxes

0.09kW to 15kW
14mm to 50mm shaft

Aluminium helical bevel gearboxes

0.09kW to 5.5kW
20mm to 35mm shaft

Cast Iron helical bevel gearboxes

1.1kW to 45kW
40mm to 70mm shaft

@T&TEWU@E
IIEZE&F’&D[N]@@

STATEWIDE

LINEAR BEARINGS

Wear-MinTech

Wiar Misimisstion Techourogy Pty Lad

Engineering | Training | Site Services

Kewdale WA (National H/Office)
67 Kewdale Road

Kewdale WA 6105

Ph: (08) 9352 2200

Bunbury Bearings

Ph: (08) 9721 3522 Ph: (08) 9842 2488 Ph: (08) 9434 9555

Ph: (08) 9724 9100 Ph: (08) 9734 1624

Linear Head Office
Ph: (08) 9475 5000

Ph: (08) 9964 4655

Ph: (08) 9478 2444

Ph: (08) 9144 2333 Ph: (08) 9410 1800

Ph: (08) 9091 4111 Ph: (08) 9303 6900

Coopers Plains (State H/Office)
902 Beaudesert Road

Coopers Plains QLD 4108

Ph: (07) 3717 4444

Coopers Plains Linear dept

Ph: (07) 3717 4452 Ph: (07) 4035 1800

Rockhampton
Ph: (07) 4927 2677

Ph: (07) 4758 8855

Ph: (07) 4952 6660 Ph: (07) 3265 2666

Smithfield (State H/Office)
Unit 2, 324 Woodpark Road
Smithfield NSW 2164

Ph: (02) 9616 0000

Beresfield (Newcastle)
Ph: (02) 4041 6444

Smithfield Linear dept

Ph: (02) 9616 0066 Ph: (02) 4272 2377

Dandenong South (State H/Office)
84 Greens Road

Dandenong Sth VIC 3175

Ph: (03) 8710 9777

Dandenong South Linear dept

Ph: (03) 9755 6044

Ph: (03) 9308 0055 Ph: (03) 5172 3000

INDONESIA
39 Sunderland Street Ph: (62) 542 7031166
Derwent Park TAS 7009

Ph: (03) 6216 6999

Windfield Linear dept
Ph: (08) 8260 6299

13 Streiff Road
Wingfield SA 5013
Ph: (08) 8260 6299

www.statewidebearings.com.au [0

SWB.1.QSerieswormbox.May.22.doc.1



QUICK SELECTOR

FC & FL FLANGES

Input speed (n1) = min -1

Output | gaso | Motor | Output | Service|NominalNominal Available Available Dynamic Tooth .
Speed power | torque | factor power | torque | BS5 motor flanges B14 motor flanges efficiency Module Input speed (n1) — 1400 min -1
. A | B 0 | P a)
r!? K | i’w ﬂzu fs Pﬁ Nlm _I'l .
min m = m i
[ ] (W] | INm] (W] | INm] 56 ‘ 63 56 ‘ 63 RD [mm] 3.%5%5 Output | pasio | Motor | Output | Service NominalNominal Available B14 motor flanges Dynamic Tooth "
Speed power | torque | factor power  torque | BS motor flanges not available efficiency Module 45 | 50 63 | 75 85 110 | 130
Q30 280 5 018| 5 | 33  0.60| 17 82 1.26 01 e " . ) FlG|-H A N 18 3 i > o g e 0 |
200 7 018| 7 | 24 | 044 17 80 1.44 02 L Py | Maw | g P M |00 y , 65 ! 8 120 27| 135 55 170 |
140 | 10 018| 10 | 18 | 032 | 17 78 1.44 03 [min] (kW] | [Nm] (KWL INmT 05 1132 160 -] - - RD [mm] Ratlos 78 92 = ; | - ] -
93 115 1018) 13 | 14 ) 025 19 73 1.44 04 1867 | 7.5 | 15 | 698 | 1.7  25.8| 1200 91 5.5 01 :«1) [ .:sg lg i g gg §S -
Zg gg g'lg 1; 11 gfg ;f ;g 1'23 gg 015 140 | 10 | 15 | 921 | 1.3  20.2 | 1240 30 6.155 02 80 835 95 | 1215 124 1435 180
' : : ' 93 | 15 | 11 | 990 | 1.3  13.9 | 1250 88 5.5 03 50 £0 725 | 87 100 125 147.5
35 | 40 012 19 | 1.1 | 013 | 20 57 1.09 07 70 | 20 | 11 |1291| 10 | 114 | 1300 : 50 60 725 | 87 100 125 147.5
23 | 61 009 18 11 | 0.10 | 20 50 072 | 08 : : 86 6155 | 04 60 76 76 82 101 15 | 100
175| 8 006| 16 | 1.0 | 0.06 16 48 056 | 09 % | 25 )\ 9 |1289] 09 | 8.4 11200 84 5 05 27 3% | 4 | 51 63 [ 72 | 92 100
output | o M.otor Output Ser\;ice Nor;'1haINominaI Available Available Dynamic To.oth 35 | 40 1 7.5 115896 1.0 | 7.3 11550 e 6.185 o7 J3 T 12:1.5 [ 1;4 1337255 I %655.5 = ;4%55 5 3%83 ' 355
Speed power | torque | factor | power | torque |  BS motor flanges Bl4motorflanges | efficiency Module / 28 50 55 1426 1.0 54 1400 76 5 o8 8 56 B [ | [T 94 104 123 1 143 __IL 155
) e " 5 " B e ol P N 233 60 | 4 1195 11 4.2 | 1260 73 4,193 09 T 29 | 965 | 435 | &3 B85 | 64 ; 74 g
(mia] wh | Na |t | i A 4 o 175 80 | 3 1113 1.0 3.1 | 1150 68 317 10 L2 25 | 25 | 25 | 3 , 3 |85 | &5 } 4
63 71 5 | 63 | 71 RD (m] | oG 14 | 100 | 22 | 960 | 1.0 2.3 | 1000 64 255 | 11 - .’gg 17530 — 211 | 1M | fe | w0
80 1 | 1 | 174 | 200 250 2925
045 200 7 037 14 22 080 30 80 2.2 01 S 4-M6x11  4-MBx12  4-M8x11  12-M8x14  12-M8x16 = 4-M10x17 8-M12x21 8- M12x21
140 | 10 037 20 | 1.5 | 0.57 | 30 79 2.2 02 FC | FC [ FL I FCIFR [ FCl A | FC | FL | FC | FL | FC | FL | FC
100 | 14 037| 27 | 1.1 | 041 | 30 77 24 03 REE <1 6.5 L 3 . 8 | 91 L 3 | 11 | 11 125 1128 ] 13 | 13 | 18 | 18 | 16
67 | 21 037 36 | 1.2 | 043 | 41 67 1.6 04 -I;} 70 , 9;‘5 ! 53*_5 _ 1;0 ‘ 1;0 | 1;2 | 1;2 _ 1_65_0 _ 1:0 e R - | 200
Q63-Q75- Q11 Q85 — AR U S . - | SR B - BB 11 6
ol Bt I B il B > 2| o Torque Arms il e Sl 545 67 97 90 120 8 116 85 111 108 1485 1315 1795 140 |
_ 0o . N e ik - PR s 75 85 | 8 150 150 | 165 165 176 | 176 200 230 255 |
30 | 46 025| 46 | 0.9 | 0.22 | 41 59 15 07 m Lo U (40 110 | 125 | 125 180 | 180 | 200 | 200 205 | 205 | 270 | 270 | 320
23 | 60 | 018| 41 | 1.0 | 0.18 | 41 56 1.2 08 .' AR B D BRI  ) L . (60 HB 60 H8 70 HB 70 H8 115 15% 115357 130 H8 130 H8 152 5 1525170 585170,5% 180 H8
20 70 0.12 31 1.0 0.12 30 _21 | 7 7 9 | 9 12 12 12 12 16 16 16.5 16.5 1
137 /102 0.09| 31 | 1.0  0.09 | 29 49 072 10 o708 o 85 | 0 | o6 | 11 13 | 11 . TE 1e8 | 458 | 18 | .
Output | g.tio | Motor | Output| Service NominalNominal Available Available Dynamic Tooth Q45| 100 | 44 | 162 | 60 | 75 7 14 | 10 4 (SR 5 5 5 S F 7 L 5 5 | 5 | 95 =
Speed power | torque | factor | power | torque | BES motor flanges B14 motor flanges efficiency Modul | aso| 100 | 55 | 173 | 70 85 9 14 10 4 S | 80 | 58 | 89 | 72 | {90 | 924 = 117511475 150 [ 178 | - =i
" Pl p y b y B -c -D o P R 2\ _ :g , }gg :g 115 165 150 . 165 180 215 230 P
L, M M fs. 1R R 4 ) 150 | 55 | 2 7 11 | 140 | 120 | 1 140 200 175 | - 200 205 250 270 -
[min] [kW] | [Nm] W] [ INm] | g3 79 g0 56 63 71| 80 RD [mm] | Ratios 63 = bW L . 95H8 80H8 110 H8 95 H8 130 5% 115:% - 130 H7 1152% 180 25170 9% 2
200 7 075 29 | 19 | 15 | 57 a2 a5 1 Q75| 200 | 63 (230 | 90 | 110 | 9 255|021 6 9 12 10 145 13 13 g 13 | 15 | 18 15 =
. . . . | | | | |
Q50| 120 10 075 a1 | 15 11 62 80 24 | 02 Q85200 | 80 [320 | 111 [130| 11 | 25 | 21 | & 7 795 93 1085 | 112 135
100 | 14 | 075 57 | 1.2 | 090 68 79 2.6 03 Q11 | 250 | 100 | 391 |130.5| 165 | 13 | 25 | 21 6 Q30-Q45-Q50 - Q13 4 I%_5.16_ | MB 5 _uB 8 8 =
78 | 18 |055| 51 | 1.2 | 0.67 62 75 2.0 04 P4Q-P5Q - | X 6x1 8x20  MB8x20 M8x20 -
2 1 4 25 _ : _ 20|
54 | 26 | 055 &7 | 10 | 0.54 | 66 69 57 05 Q13| 250 | 125 | 410 | 180 | 215 | 13 | 30 6 430536 2.30 3.25 6.00 8.70 18.7 35.0 48.0
47 | 30 [ 055| 79 | 0.9 0.50 | 72 70 2.5 12
39 | 36 037 63 | 12 043 72 69 2.1 06
33 | 43 037 72 | 1.0 | 035 68 66 1.8 07 ¥ LM F o F
286 | 50 025 53 | 1.2 031 66 62 1.5 13 " | |
23 | 60 |025| 59 | 10 | 0.26 62 58 13 08 | e — M|1
21 | 68 025 66 | 0.9 022 58 57 1.2 09 i Di?ﬂ
175 80 | 0.18| 53 | 1.1 | 019 | 57 54 1.0 10 Smgle & Double OUtPUt Shafts o o gig 2 ;gg --qf=e---e-- -
) ) . ) S X - <9
14 | 100 012 41 | 1.3 | 015 | 51 50 0.8 1 5 o o o . . * . o G o CETE ]
Output | p.eo | Motor | Qutput| Service NominalNominal Available Available Dynamic Tooth For | Q63 | 8 | 28.3 ©®
Speed power | torque | factor | power | torgue B5 motor flanges B14 motor flanges | g y Module @ Q30 5 25 14 35.5 55 126 59 945 | 158 Q75 8 | 31.3 .:.‘ richiesta
¥ ¥ a 0220 con
n, i Py My fs P 2R B/ €D E Q/RIT —'/\ - gﬁ :g 3:2 A odissl;nziall
o with spacers N
063 200 7 18 71 18 | 32 | 125 83 31 01 Qs0 8 52 25 59.5 81 200 | 86.5 | 146 | 28.0 R... \FB M... \FB
1;0 :g 12 192?1 1411 f; :gg g; 21 gg Q63 | 8 60 | 25 | 63.2 | 120 |246.4 | 1268 | 190 | 28.0
74 19 11 | 111 12 | 14 138 78 26 | 04 Q75 | 8 | 60 | 30 | 65 | 127 | 255 | 134 | 199 | 330
%8 | 24 1 11 ) 185 10 12 | 142 o 20 | B @85 | 10 | 60 | 35 | 735 | 135 | 282 | 141 |2145| 380 | [ T R IO
47 | 30 | 1.1 | 167 | 0.9 | 0.96 146 74 3.2 06 |
39 | 36 | 075 125 | 1.2 | 0.88 | 147 68 27 07 Qit | 12 75 42 | 965 | 155 | 348 | 1635 | 260 | 45.0 I c
35 | 40 | 0.75| 135 | 1.0 | 0.78 140 66 25 13 E —
31 | 45 055 111 | 12 | 0.67 135 66 21 08 Q13 | 14 | 80 | 45 | 85 | 170 | 340 | 180 | 265 | 485 oM === HHTE - =
23 | 60 | 0.55| 140 | 0.9 | 0.51 130 62 16 12 -
21 | 67 055 151 | 0.8 | 0.45| 124 60 15 09
175 80 |037| 115 | 1.0  0.38 | 119 57 1.3 10 5
149 | 94 |0.37| 123 | 1.0 | 0.36 | 119 52 1.1 1 M...\FC o1 U1
aP1
M...\FL -




